Solutions for Class 7 Maths Chapter 6 ﬁ‘ﬂﬁ 3R TP
U7 Ex 6.2

U4 1.
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(i) x = 50° + 70° = 120°

(ii) x = 65° + 45° = 110°

(iii) x = 30° + 40° = 70°

(iv) x = 60° + 60° = 120°

(v) X = 50° + 50° = 100°

(vi) x = 30° + 60° = 90°

Uy 2.
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3fc: (i) x + 50° = 115°

T x = 115° - 50°

T x = 65°

(i) x + 70° = 1000
T x = 100° - 70°
T x = 30°

(iii) x + 90° = 1250
gl x = 1250 - 90°
gl x = 35°

(iv) x + 60° = 120°
T x = 120° - 60°
T x = 60°



(v) x + 30° = 80°
I x = 80° - 30°
T x = 50°

(vi) x + 35° =75°
gl x = 75° - 350
gl x = 40°



